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e (1-5) : & E aforent /ATt @1 erEYES

AT L a7 = feu g9 o I e

Directions (1-5) : Study the table and answer

the given questions.

T anferemt & IR =afea A, B, C 921 D 9«18 &
it fedi maegai A fefr e & -

In the following table four persons A, B, C and

D are selling items on different days of the

week.

A

B

C

D

A9ar,/ Monday

40

45

25

20

TR/ Tuesday

35

50

48

26

Yha/ Friday

25

28

15

41

SIaR/ Saturday

30

40

45

40

1. HEAR S D gRI o= 78 9%, THER i C

ST St 178 g bt feha wferera oft 7

Items sold by D on Monday is what

percent of item sold by C on Saturday ?

(A) 32.70%
(C) 49.55%

(B) 44.44%
(D) 42.60%

2. B, C AU D gRIshAI: THER, AR 9T
IITET =BT SI=ft 778 S 3T 1 SFd TR ?
What is the average of the items sold by

B, C and D on Monday, Tuesday and
Saturday respectively ?

(A) 45.90
(C) 42.50
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(B) 46.66
(D) 44.33

e o gt IR e § D awg i fosht it
o1 | B a%q bl forsht ® fopaet wfersma <
gfg 313 ?

Percent increase for selling of items B
compare with Selling of items D in all
four days of weeks is

(A) 283%
(B) 183%
(C) 19.5%
(D) 29.1%

AER Bl 9=l T FEgI H 3N IR
IERAR I S TS I3 i 37Ed & Ted
fepamT SR R ?

What is the difference between the

average of items selling on Monday to
average items selling on Friday ?

(A) 6.45
(B) 525
(C) 7.40
(D) 10.5

HITTIR 1 A R =it T8 %] a1 IHER
I C g o=t 718 S 3BT STUT AT AT 7

What was the ratio of item sold by A on
Tuesday & items sold by C on Saturday ?

(A) 8:7
(B) 6:5
(C) 7:9
(D) 9:7



f&w (6-10) : & 775 aforent /Ameft 1 ey
I ot qen = feu g i & 3T e
Directions (6-10) : Study the table and answer
the given questions.

YR ¥ 2010-2017 & T BHAT 1 IATET

Production of Crops in India during

2010-2017

(e ﬁ) / (In tonnes)

a¥/

Year

"/

‘Wheat

Rice

Bajra

T [
Maize

St/
Barley

Tt /

Pulses

e /

Potatoes

2010-11

6121

874

565

80

300

415

210

2011-12

7010

964

655

60

312

417

220

2012-13

7112

960

780

55

210

680

222

2013-14

7056

985

1110

40

200

310

245

2014-15

6896

716

1160

90

216

370

315

2015-16

6912

826

1450

110

160

300

400

2016-17

7617

812

1460

75

216

260

445

ITE | AR g &t 1 TS 7
(A) SR
(C)

(B) @i

(D) Hem

=4 O forl w8 | 2013-2017 & 99

Which of'the following crops showed the
continuous increase in production during
2013-2017?

(A) Bajra
(C) Barley

(B) Pulses
(D) Maize

2010-11 8 2016-17 i 1G4 o 7€ 3T
1 3 IcqTe fohaT R 7

(A) 25386231  (B) 35396
(C) 293.8631 (D) 300.002F

What is the average yield of potatoes
during the period 2010-11 to 2016-17 ?

(A) 253.86 tonnes (B) 353.96 tonnes
(C) 293.86 tonnes (D) 300.00 tonnes

10.

2016-17 < A 398 O ford A o IcdTe

¥ formet o o qormn o fiere gl 1T 7
(A) 3T (B) =maet
(C) «&T (D) St

During 2016-17, which of the following
crops showed decrease in production in

comparison to the previous year ?

(A) Potatoes (B) Rice

(C) Bajra (D) Barley

HTE] 1 ITET 2015-16 § 2010-11 I
31gTeH fhaT O § ?

The production of potatoes in 2015-16 is
approximately how many times that in
2010-11?

(A) 1.90
(B) 2.10
(C) 2.00
(D) 1.82

% 3ered 3 Far a3 S e e
U

Wheat production started showing a
slump during :

(A) 2016-17

(B) 2014-15

(C) 2015-16

(D) 2013-14
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11.

12.

13.

14.

o -3g -3 foper 3 & 3Tt & wfsa

g AT ?
(A) THIBETE (B) aTfugary
(C) Tt (D) TR

Siraj-ud-daula was defeated by British in
the battle of :

(A) None of'these (B) Wandiwash
(C) Plassey (D) Buxar

T A I gy A T et Tmeie o1 2

(A) @EEw  (B) @R

(C) WS SR (D) AT doistedl

Who among the following was the great

protagonist of the ‘Doctrine of Lapse’ ?

(A) Lord Hastings

(B) Lord Minto

(C) Lord Dalhousie

(D) Lord Wellesley

WA 3fgmd 8 el i 9 2

(A) TTHERE T

(B) &Y T o Teh g A1esheh

(C) T TrshATICe <hl THT <l FRNTT
T T Tidg Fafereaeh

(D) 5T = o Wieg St

In Indian History who was Dhanvantari ?

(A) None of these

(B) A famous dramatist who lived

during the time of Harsha

A noted physician who adorned the

court of Chandragupta Vikramaditya

A famous general of Chandragupta

Maurya

Traferiaa forg shm o W 31T 2
. THEq

II. R
L 239

In which order did the following come to
India ?
I Thomas Roe

©)
(D)

II.  Fa-hien

[I. Hiuen-Tsang

(A) I, I 1I (B) ILILI
(©) I, L 11 (D) LILII
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15.

16.

17.

18.

I3 I fore o WG | 9o o) 7R ?
The Simon Commission first visited
India in the year

(A) 1928 (B) 1919

(C) 1926 (D) 1925

TR T ®ue grn foeg aAfeeye o
vfgTiies “qul s (U Waedr) &

AT TR TR T 2
(A) TG (B) T
(C) WmER (D) w3

In which session, the Indian National
Congress passed the historic “Poorna

Swaraj”  (complete  independence)

resolution ?

(A) Lucknow (B) Karachi

(C) Lahore (D) Bombay

1 =1 e ot

a. SISTA REE A 1. AT geq

b. e uret 2. gUTSES 9

c. T em 3. .. gEE

d. W& e 4. THEE=E

Match the following :

a. Indian 1. Lala Hardayal
National Army

b. Ghadar Party 2. Subhash

Chandra Bose

V.D. Savarkar
Annie Besant

c. Mitra Mela 3.
d. Home Rule 4.

League
a b c d
(A) 4 2 1 3
B) 3 4 1 2
< 2 1 3 4
(D) 1 2 3 4

HrRfehTefH R o ferawor areft “gfgenr &
[CERRS

(A) THABETE (B) FFEM

(C) R (D) WS
“Indica” which is an account of Mauryan
India was authored by

(A) None of'these (B) Hiuen-Tsang
(C) Fa-hien (D) Megasthenes

B



19.

20.

21.

22,

TTH 19 T ShITehI TS bRl TSI
o T et o1 2

(A) Tergmm ffestend TaIfusH

(B) 3INE WRa I

(C) Fgefier gfdfa

(D) TreT urdf

Which of the following revolutionary
groups was involved in Kakori
Conspiracy Case ?

(A) Hindustan Republican Association
(B) Abhinav Bharat Group

(C) Anushilan Samiti

(D) Ghadar Party

NI TR &74 e T e R 7
(A) R (B) M
(C) Hwm (D) Ters

The Nagarjunasagar Dam has been built
across the river
(A) Cauvery
(C) Krishna

(B) Ganga
(D) Godavari

HI30E T T IUH g1 IeT8 ford a8 <6l
g ?

The Mt. Everest was first scaled in the
year

(A) (B)
©) (D)

= o 9 forge warem meft & Raamea
TG © e w1 ferie fopam 2

(A) 39 HA™ TG

(B) Tigwg el fo=m

(C) ®IIA &P

(D) WM 37sge THFRR WM

Who among the following opposed
Mahatma Gandhi’s association with the
Khilafat movement ?

(A) Abul Kalam Azad

(B) Mohammed Ali Jinnah

(C) Fazlul Haque

(D) Khan Abdul Ghaffar Khan

1958
1953

1955
1951

23.

24.

25.

TS 59T 997 % g 371I%h 1 €id 8
(A) USHiEmE  (B) SHf@
(C) & (D) Tooii-Trelgd

The source of iron ore for Bhilai Steel
Plant is
(A) Rajnandgaon (B) Umaria

(C) Korba (D) Dalli-Rajhara
few 7 etf 3R 376 TUET 1 B 91 S
TE AR B ?
1 Sifser s gt — ST 3R el
2. SR AT @1 3R

faroeht o - ST
3. ymme, Sifd um

L
4. YA IR o o — Tafern
(A) 1,233 (B) 334
(C) 233 (D) 132

Which of the following passes and
locations is/are wrongly matched ?

1. Zojila and — Jammu and
Burzil Kashmir

2. BaralLapcha  — Uttar Pradesh
La and Shipki
La

3. Thaga La, Niti — Himachal
Pass and Lipu Pradesh
Lekh

4. NathuLaand - Sikkim
Jelep La

(A) 1,2and3 (B) 3and4

(C) 2and3 (D) land2

TLAqL H T veft s1vRmes /g 3em 1

qmR

(A) HTEIHT AHIRTT

(B) hadlied IHT TEH 3T

(C) < 3NN

(D) YHUISTE IIRTY

The name of the bird sanctuary/national
park at Bharatpur is

(A) Ghatprabha Sanctuary

(B) Keoladeo Ghana National Parks
(C) Darrah Sanctuary

(D) Bhensroadgarh Sanctuary

GAMMA21



26.

27.

28.

29.

IR Sl TFRT TR hT IAThet hid dTe!
e 3

(A) 1T TifeTeh! TaH

(B) fora wamer

(C) ffe 3

(D) IIR.1.37E.

The agency estimating the National
Income of India is

(A) Central Statistical Organization
(B) Ministry of Finance

(C) NITI Aayog

(D) RBI

T &7 1 g
(A) Sy (B) fedraes

(C) Wt (D) Ttk

What is another name for the Service
Sector ?

(A) Agriculture (B) Secondary
(C) Primary (D) Tertiary

YA | ¥oId ShITd o T o &9 H
ST TR ?

(A) AT Tger

(B) TH.TH. WA

(C) . =g $iEa

(D) SASATT Wl

Who is known as father of White
Revolution in India ?

(A) Norman Edburg

(B) M.S. Swaminathan

(C) Dr. Verghese Kurian

(D) Balwant Rai Mehta

Forereh e o woraed fsfl faw 1 gfg
1 31fre Fara Bt 7

(A) SAfRTTA HT

(B) T Sl o g i

(C) IR < HTd

(D) AN

Private investment will be most likely
to be increased as a result of a rise in
(A) Personal taxation

(B) Expected yield on new capital

(C) The price of shares
(D) The rate of interest

AH TS ?

GAMMA21

30.

31.

32.

Rd % Gfee™ § 30 | 1 Tew g o
afttrfera 7Ei 2 2

(A) <UE Wiska dfgar

(B)

(C) I IR =ae

(D) i

Which one of the following is not
included in the state list in the
Constitution of India ?

(A) Criminal Procedure Code

(B) Prison

(C) Law and Order

(D) Police

FrefeTfiea © | a1 YR dfag™ i ged
IENERIE RS

(A) ToiRea afaem 3t fgam 6 garemr
(B) Ifaa=t =t ferawom

(C) Yfdag =mads

(D) 3¢ Tefig T

Which one of the following is not a salient
feature of the Constitution of India ?
(A) Written Constitution
Supremacy of the Constitution
Distribution of powers

(C) Committed judiciary

(D) Quasi federal structure

IR | ST IR 1991 % S Tems
HAY ?

(A) T A BETE

(B) . AHTE iy

(C) 312 fogr st

(D) .. T Ta

Who was the Prime Minister during
economic reforms 1991 in India ?

(A) None of these

(B) Dr. Manmohan Singh

(C) Atal Bihari Vajpayee

(D) P.V.Narsimha Rao

and

(B)



33.

34.

3s.

YA g™ &1 ®F 91 3ese T

GTHN 1 U =TIl o TS & o
feRE war g 2

(A) FT=WE46 (B) INTHT 44
(C) 3= 40 (D) IT=q 38

Which Article of the Indian Constitution
directs the state governments to organize
village panchayats ?
(A) Article 46
(C) Article 40

(B) Article 44
(D) Article 38

P-ww TR U9 et & fOER
foper T o 2

(A) TTHYRE T

(B) TIS HHITH

(C) 33Tk HEal HH

(D) Setdd TF HEdl HHdl

Who had proposed the idea of three tier
Panchayati Raj System ?

(A)
(B) Royal Commission

(C) Ashok Mehta Committee

(D) Balwant Rai Mehta Committee

None of these

7 5 9 Fa1 wRd™ AW HI SRS
=T JEH LT & ?

(A) FHEBR T

(B) Ts¥ Hif & fgeres fagma

(C) TifeTeh Haiea

(D) THifetsh AfIHR

What ensures economic justice to Indian
citizens ?

(A)
(B)
©)
(D)

None of these

Directive Principles of State Policy
Fundamental Duties

Fundamental Rights

36.

37.

38.

- 39.

40.

gfeQa 1 S.I S FATR ?

(A) TfERR (B) diee

(C) 3w (D) e

What is the S.I. Unit of resistance ?

(A) Ampere (B) Volt

(C) Ohm (D) Faraday
e =1 e waTe 3 o fergeht 3ufedrfa
& IO BT S ?

(A) Wifte 3 (B) 3Aficish 30T

(C) UHiftw 3w (D) HTsieeh 3T
Sour taste of lemon is due to the
presence of which of the following ?
(A) Formicacid (B) Oxalicacid
(C) Aceticacid (D) Citric acid
Sheheaeh TP 8 BIdT 2

(A) THT (YA (B) =K

(C) wiE (D) =AM
Carcinogenic chemicals cause

(A) Asthma (B) Cancer

(C) Diabetes (D) Heart diseases
= S FUL T FAT HATA B 2

(A) Tafsre = (Wt i)

(B) = (sfia)

(C) o= (Tfushia)

(D) 3Tav=H (TEiefHa)

Name the upper layer of the skin :

(A) Special Dermis (B) Dermis

(C) Epidermis (D) Endodermis
ferteft 1 o |fche o e gIaT 8 2

(A) 39H S dlees T&1 sl

(B) feo= og a1 9 81 W

(C) fEETgE™

(D) feg= =T En ™

Current flows in a circuit when

(A) There is no voltage.

(B) The switch is either opened or closed.
(C) A switch is closed.

(D) A switch is opened.

GAMMA21



41.

42,

43.

44.

37%1&@—«1%%%?
(A) Teifa 78 St asd
(B) 500

(C) 400
(D) 300

How many 1 ’s are there in 37% ?

(A) cannot be determined

(B) 500

(C) 400

(D) 300

36.1 o

\102.4
29 19

A = ®) 3
19 29

© - O

Th WG ! SIEEAT | 4% h a1 g

ﬁ%wwﬁw%w%%mﬁm

Teh T i STt 7 | < @t 6 gfg o wfesra
18I 7

The population of a town increases 4%
annually but is decreased by migration

annually to the extent of %% . What will

be the increase percent in three years ?
(A) 10.8 (B) 10.5
(©) 10 (D) 9.8

Ife (1+2—7] =(1+%},aﬁxwm%:

169

If (1+2—j = (1 +%) , then the value

169
of xis :
(A) 7 B) 5
© 3 D) 1

GAMMA21

45.

46.

47.

48.

49.

50.

13 9ftorm} 1 37Ed 68 7 | U8t |Id I
37d 63 7 3R 31Ra T1d =1 3fi|d 70 2,
@t |rdd < g § —

The average of 13 results is 68. The

average of first seven is 63 and that of the
last seven is 70, the seventh result is :

(A) 94 (B) 73.5

(C) 65.5 (D) 47
TSTaed’ Rl TIFAT 3

(A) fosg (B) Tordfd
(C) WeATg (D) TSH
‘Thicl H W g’ 9T o foqw i few o
forpen © & T wreg g ¢

(A) HHIhHIvl

(B) FeT

(C) Terhiot

(D) Hh

GY %1 g FN AT 1 IT AT HETel o
FAIR

(A) 3fua Fota e

(B) weraTaqul ot e

(C) Trar-Joremt &

(D) g SHUF A

[ T BT = HIT |

(A) TE=HR

(B) dfgshn

(C) g

(D) SEShI

e d g e o foeim e w7 @ 2
(A) Fpvsd (B)
(C) qwm (D) e



Directions : Read the passage carefully and
answer the corresponding questions : (51-53)

I climbed into bed and rolled myself in my
blankets, first extinguishing the light that
burned steadily near the door. I lay still trying
to get to sleep but my fear made that
impossible and soon I sat up in bed peering into
the darkness and occasionally glancing at the
round window in the side of the ship which
seemed like a plate suspended in the darkness.
For an hour I must have sat like this, and then
I was suddenly roused, by a drought of cold air.
I jumped out of bed; not having allowed for the
motion of the ship, I was instantly thrown
violently across the room.

51. The author jumped out of bed because

(A) he was pushed by someone.

(B) acold breeze blew past his face.

(C) he saw someone coming towards
him.

(D) he heard a faint sound.

52. Which one of the following did the
author do first ?

(A) None of these

(B) Rolling himself into blankets.

(C) Climbing into bed.

(D) Closing the door.

53. The author sat peering into the darkness
because

(A) he was afraid.

(B) the window had looked like a plate
(C) he wished to see the window.

(D) he had put out the light.

54. Give Antonym for the following word :
Keen
(A) Eager (B) Humble
(C) Alert (D) Dull

55. Give Synonym for the following word :
Pride
(A) Cowardice (B) Dignity
(C) Hate (D) Humour

56.

57.

58.

59.

39 TG 1 =T hITSTT ST FHG o STeh] Teq]
g e 8 @l |
®) 3H

(A) el
(C) R (D) 1 (aEfe)

Choose the word which is least like the
other words in the group :

(A) Priest (B) Monk
(C) Knight (D) Nun
fepeht fifead e w1 § COMPUTRONE

%! fof@r S 8 PMOCTUENOR | g&ft
%e W1 § ADVANTAGES %1 %1 feran

SITE 7

In a certain code language,
COMPUTRONE is  written as
PMOCTUENOR. How is

ADVANTAGES written in that code ?
(A) NAVDASEGAT
(B) AVDATASEGN
(C) AVDATNSEGA
(D) SEGATNAVAD

Teh HATGH! - Ueh Aleel & T, “Jrel Hi
ufdl 1 98T Tl g3 7 |7 9% Hiea 39

37TeH) 9 forg yhR Gafa @ ?
(A) =& (B) #f
(C) it (D)

A man said to a lady, “Your mother’s
husband’s sister is my aunt (Bua).” How
is the lady related to the man ?

(A) Sister (B) Mother

(C) Granddaughter (D) Daughter

feu U foereut ® @ efuq e w1 WA
i -

sl ST ;s ?

(A) G (B) wHaf@nm

©) T (D)

Select the related word from the given
alternatives :
Dog : Rabbies : : Mosquito : ?

(A) Stings (B) Malaria
(C) Death (D) Plague
GAMMA21



60.

61.

62.

63.

GAMMA21

YR oh 39 TUH T bl T4 =1 & 8 3799

Tt Frenfer <t wamee <ffmn sgM R 2 2
(A) e (B) TSI
(C) T (D) TeRId

Name the state of India which became
the first state to provide health insurance
for all its residents.

(A) Karnataka (B) Rajasthan
(C) Telangana (D) Gujarat

ISR, T 22 IR, 2021 § g =
T 1 U SIS ST oL T Sfcrare) o fean g 2
(A) gﬁ#@ﬁ (B) &

(C) T (D)

Which payment system has been barred
by RBI from issuing new cards from
22 July, 2021 ?

(A) None of these (B) Rupay

(C) Visa (D) Mastercard

IR % IR H SATTEHAT 96 % 35639 8

WRd | fohteh GRI WIETSA U9 “THE AT

& TeRat T 2

(A) FHEBRE T

(B) 3T T

(C) T8 HATeTH

(D) LR U YNGR e HATAd

To raise awareness about Yoga, Mobile

app “Namaste Yoga” launched by

whom in India?

(A) None of these

(B) Ministry of Ayush

(C) Ministry of Home Affairs

(D) Ministry of Health and Family
Welfare

Ife 18 ®EH, 2005 I IEHAR 8,
18 ®adt, 2007 %I I &1 fe ghm 2

(A) 999 (B) #HITAIR

(C) ¥HaR (D) @R

If 18" February, 2005 falls on Friday
then what will be the day on 18"
February, 2007 ?

(A) Wednesday
(C) Monday

(B) Tuesday
(D) Sunday

64.

65.

66.

67.
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2021-22 % TR FTR (JAE-THaR) &
fTugrafg @ fI TS A 2
What is the interest rate on Sukanya
Samriddhi Accounts for second quarter
(July-Sept) of 2021-22 ?

(A) 9.6% (B) 8.6%

(C) 6.6% (D) 7.6%

AT BT 3 SheH T T T Teh BRITTT S
1 T Siciigg S & A I

WIe |

(A) TEnaem (B) &iftem g
(C) TRmamer (D) wEE T a=E
The Indian Army has named one of its
firing ranges in Kashmir after
Bollywood actress

(A) Vidya Balan

(B) Deepika Padukone

(C) Priyanka Chopra

(D) Aishwarya Rai Bachchan

s 2021 % foTw form <1 61 Trare fava
T gy wfwerTedt grEare i gl § gey
SR ?

(A) ST (B) WRd

(C) 21U (D) =4

Which country’s passport has topped in
the most powerful passport in the world
for the year 2021 ?

(A) Japan (B) India

(©) U.s. (D) Russia

e dufafie 2021 § fopaen! R
TS o S -aTgeh oh foTC TG foka T/ 2
(A) onfidfe  (B) <dw sl
(C) HREw ofelcy (D) R TTeheT
Who has been named the flag-bearer of

the Indian contingent in the Tokyo
Paralympics 20217

(A) Ajeet Singh

(B) Devendra Jhajharia

(C) Mariyappan Thangavelu
(D) Kashish Lakra



68.

69.

70.

71.

72.

Ifvges wnifa gaere 2021 T & A1 <N
YR ?
(A) g (B) 3TEEIE

(C) Sictvg (D) ST
Global Peace Index 2021 topped by
which country ?

(A) Portugal (B) Iceland

(C) New Zealand (D) Denmark

HH TS WR 4 g gfra
RIS ATSHT <l AR fhaT @ 2

(A) feer (B) dfierTg

(C) IFIIT (D) dorTHT
Which state government implements
Chief Minister Dalit Empowerment
Programme ?

(A) Bihar (B) Tamil Nadu
(C) AndhraPradesh (D) Telangana
=1 1 9§ Topd G BT “U=T ST T W <k
TH F ST ST 2

(A) et (B) U™

(C) ¥HeH (D) SiHT

Which of'the following countries is known
as the land of “Thunder Dragon” ?

(A) Srilanka (B) Nepal

(C) Bhutan (D) Japan

T feper o <t TSt R 2

(A) THABETE (B) Hal 3R
(C) STees (D) WMR
Riyadh is the capital of which country ?

(A) None of'these (B) Saudi Arabia
(C) Bangladesh (D) Myanmar

afeTg faum @ 2021 1 9@ fhm
Tifaeh gt = Sfar 2

(A) H.um,

(B) U.3E.U.E.THF.

(C) I

(D) & .uH.

Tamil Nadu Assembly Election 2021
was won by which political party ?

(A) PMK (B) AIADMK
(C) BIP (D) DMK
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73.

74.

75.

76.

77.

T |1 < T 5T HCE| ol HRIhTS foha
TIBTEATR 7

(A) 8ad (B) 699

(C) 44 (D) 24

What is the tenure of the elected
members of Rajya Sabha?

(A) 8 Years (B) 6 Years

(C) 4 Years (D) 2 Years

Torea & v Uy oo e AT ST B 2
(A) 307Es (B) 277@s

(C) 24 3HH (D) 20 3SR
When is the United Nations Day

celebrated across the world ?
(A) November 30 (B) November 27
(C) October24 (D) October 20

FAT =TT el R 2 2
UNIREREI (B) UHEEH
(C) 3am (D) forram

The International Court of Justice is
located at

(A) Vienna (B) Amsterdam
(C) TheHague (D) Geneva
fowa wirg “@SuE!’ qideemd fm g —
(A) wEWgH (B) sifemm#
(C) "N H (D) TodH

The world famous ‘Khajuraho’ sculptures

are located in

(A) Maharashtra

(B) Odisha

(C) Madhya Pradesh

(D) Gujarat

Al i 318 & WRA 1 0 o & & @1

T T8 BT 8 7

(A) T (B) ™™

(C) a3 (D) Tafepn

Which of the following is the smallest

state (in Area) of India ?

(A) Mizoram (B) Meghalaya

(C) Goa (D) Sikkim
GAMMA21



78. T 9 i W U BNaTE W TR @ 7
(A) FAREIHRIHEA (CFC)
(B) HTe SEHAFETES
(C) g
(D) e
Which of the following is not a green
house gas ?
(A) Chlorofluorocarbon (CFC)
(B) Carbon dioxide
(C) Nitrogen
(D) Methane

79. 3T QEhR fepafere feu sma & 2
(A) Tafsre gurs qeansti & foe
(B) WA % & § Ichy ez & forg
(C) g H =it < fer
(D) 3mTdeRTen fefe # forfdTe dar h foerg
Arjuna Award is given for
(A) Exceptional social services
(B) Outstanding performance in sports

(C) Bravery on battlefield

(D) Exceptional service in emergency

80. URg TEHIENT IcHd 30 © o U9 §
qEg 8 ?
(A) 3fifesm (B) TS&IH
(C) faEr (D) A

The famous Nabakalebara festival
belongs to which of the following states?

(A) Odisha

(B) Rajasthan

(C) Bihar

(D) Kerala
GAMMA21

e« Fr=ferRaa e <t exYE ufew e 3|
TR 3MHTRA J¥1 (81-85) o ST T :

A JU A H 399 3R TR
ferdremd T hedt 2 SR Wt T g oft

| SERT ITYETE 2T & | HETeHT el % e § a8 I

fomn fopeft $saf-gw qen @F-wUe &% @1 M
o7 | TEASH 38 FImIE HEd A | 39k WS 36
e, enfifes e qenm 3= IuAfRET 1
AT BT Tl o7 TS 37k HeTeRuT 3T SEER
HI | W WA S hl TR W@H H &
TN IE & o T8 Sails o1 J1Ulq 3 e %

| B 3R S < A St 9, 918 o g g

1 e, A A7 A B 3reran fafie uer & |
3Heh TV & I8 Ueh YHUET 3T T it
%1 GOWefiel TP 3TGieq o1 | W09 9RA
TR o &Y H W AT SdiEehal 3R gH-
TR 1 oY 331 8 § | g9 | el |ehd Toh
34 9 SN § 37U 16 KA & T gA 39T
feffer 72 <7 dehd & =1 IS el HHT AR H

e ST < 2 3u% freg St T2 331 T

o 37 EH ST T TaAdTIaeh oh el ot Tehd
g |

81. 3T T § TG I G €Y H AR 7
£
(A) TETCH e < g § TP e
HaT T |
(B) T[T <30 hi g1 ket off |
(C) I & T H FHuhi 1 w1

IS T |
(D) SIS § shifcehTie <ht fereiy yfirent
of |
-12- B



82. 3T TIITS o THEh hT eI RIT AT ?
(A) SR ¥ BT SaMT |
(B) IS T o g FFmT |
(C) YN TEasal T hi o
AT |
(D) ©Tfieh ATEATAT N TIHIER i
SQTET &l |

83. Hfderar & 3rfimme B
(A) el oft gvf =t 7 o
(B) ou & AT
(C) v o g&q&q T AT
(D) @t g 1 TR

84. U AW WU f AW Wdmar @
ST o7 ?
(A) zaH |eft Srfer, o, e o T A
o fotam o |
(B) I§ WaAdT-UMRIT 1 SATGer T |
(C) 3 fawg 3R goeTH |fffcTd 5T |
(D) IE WETEHT Tiehl % FEeIagr 3R
HET=RUT o1 Jcileh oT |
85. Suth ey # WY TYEviia’ veg w1 31
3_
(A) TMHTE (B) M HE A
(C) yEHFE (D) THHH AT

T - fr=forRaa e <t ey ufew qen 34
T ST T (86-90) h I T :
faemar-traa 3@ gfy = faui & w3 |
3G BRI H1 FEY T | TH TS I
SRS 1 T Y TR TR Srifehi 4 Fq.
g T STRIUE” Sl Shed1 shi off | ITeh! 8 HeaT
AT o1 A& oft, Tea Jemef o} oft Riifer -
T B S foramen & &9 § ufed g 2, e 1
w0 @ A GE R | T A T, g b1 IR o
Ffem & | @ 1 U el HAThYeh o SATevgny

w9 g § 3 el 8 7 I U Al @
THa-gi<d | gifgcasil I 39 -Gl &+
U o T Toha &t TR <h1 farerm fopam 8 31t

| 39 eI -TR @ |t I S| S % fae

31 1T gfseai @ eefl € |

gifgcanfe=n 3 off g5 gme i aeEe
1 ferer hd g 3 T ol vt fopam 2 |
] ST g1 ¥ T fopan Sie at ae-IRR
1 Teh STfect I § Ut foma <1 gehar @ | f5
YR I o Th Il | QY 37 IH T T/ I=
TTEHS] ATl 8, SehR &1 ST & SHI TehR e -
T o Tarfirs steral 4 @ afe 18 th stee ot
forTe Srar @ 1 &R IHTE ER IR W 9LSdl § |
AT € T, 6 S B UG A (5 % @
B WM ¥ ¥8 Al 99 THUH R B
Al §, Sk ol Jog &l Fohal & | Th 37T &
foepa B T A iR 2fved @1, 98 Heswatad
B 9T — g fommofi 2 |

Ife forelt I % TS I FCeTht 3T TIH

| O T YA SATeRL I Shl qdad T U Saferd

&Y g ToRATSiiet S/ ST dehdl @ A1 AL < faehd
I o WH W A7 Fwg 30 et IR
LY U T FA1 T2l ST ST Hehdl 7 e -
Fafercaepi = s grf¥reagut I 61 wier T
AT R STaE™ qUiETEAT & I 3T-
TR o &3 H Ahetdl ITH Sl | 3FT-TeI T
1 3¢9 2 b o <rafy e o |k | 9@ a8
eITaeT 8 fob THa-3R &2 fereft o 37 ot 3
TehR TiehR a1 shidl, 5 TR & foret o1 &
30 Tltepr T gran | Ueft b1 Th ¢ | & Th -t
ST TV STATEIIH &, dl TR0 § g
FcTeh—THET0T JATETE 8 | 3T o1 ey - Ffehedeh
e, I%d, 3id, Bhe IR TCT 1 TR
ThadTgae HL @ & | Je-ged i
T gitass & 3ifafes TR & : a@eft 37

| IR HEE BT R

B -13-
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86.

87.

88.

89.

90.

IR SFE 1 STUTRA 3TWTE BT &
(A) ol

(B) Srcu-fafehcas o

(C) wfEca=me |

(D) ®Tfecr A

A YRR 1 J=Add g T 8 Fifh

(A) 9FE SRR foerar shi gfe i 3
Hid2 |

(B) 37o¥d &1 ISl < fohd &H ¥ IR
FAaq MisFa g A g |

(C) A IR I=1 6t wifd SArevaw g
2

(D) WHa YRR §¢ WHURE 3R saa
gfaffa g |

o -fafehcahl g wWiHR H T
arfrearqut <At oft

(A) Yia-Tafercan &1 qaw wefua st
(B) 3W-YIRMY g IR sl ™=
EEIE

HHE-IRR ! I § =T

Sfrof SRR o T U Ty IR AT

©)
(D)

IT=ae H Wk TR sieg &1 qatT B
(A) T (B) 31Q¥d
(C) =& (D) g

T ! IS 1 oY €9 AT T & FiTh
(A) guHa & faaam A a=hi g e |
(B) T o Ttk AW 2 |
(C) uHa g w1 famiR 2 |

(D) wHE-TA | S ufed g ], a8 gfe
Fafeagmae |

GAMMA21

100

faéwr (91-95) : Trifena Tt o wite o fafte
a1 o S Icared (fuferam e o) ewrten w2
T 3TERH i TR FeAferfad et o T i
Directions (91-95) : The following graph
shows the production of cement in Million

. Tonnes during the various years. Study the same
and answer the following questions correctly :

e T IS
(Frfem za o)

Production of Cement

(In Million tonnes)

40

91.

92.

93.

14—

IeareA | frsel o Y gorn o o
% G 3tfershan afg 58 |

The increase in production
maximum during the year
its previous year.

was
over

(A) 2018-19 (B) 2014-15
(C) 2017-18 (D) 2013-14
W A9 99 S 37Ed Icared o1

The average production during the first
three years was :

(A) 50MT (B) 48 MT
(C©) 46MT (D) 44 MT
itz o1 Tfrehan IcuTe ot g7 38 I

The maximum production of cement was
noted in the year :
(A) 2017-18
(C) 2014-15

(B) 2018-19
(D) 2013-14



94.

9s.

¥ 2011-12 % GRA 3T Jhg wfemra
RENELEIG R

The percentage increase in production
during 2011-12 over its previous year was :

(A) FTH A HE &N / None of these

(B) 37.5%

(C) 36%

(D) 31.8%

IeTEH TR TR e 36 a9 el :

The production fell down to the
maximum extent in the year :

(A) 2019-20 (B) 2016-17

(C) 2015-16 (D) 2012-13

TE=T (96-100) : Tezm 727 71T T T X o ST
12013 2019 % HLA HUS T4 § ST 2 |
T T Forst o e Tl o SRS |
Directions (96-100) : The following graph
shows the import of a certain commodity X in
Crore Rupees between 2013 and 2019.

The questions are based on the shown figure.
Answer these questions.

96.

4 X R =G

2000
Import of X —

g 1300

S 1200 1200

=

E 900

E700

£
= s h=t = ® 2=
h < w b o 0
= = = 3 3 B
[q\] [q\] [q\] [q\] [q\] [q\]

auft a9t o fou 99 e a9 X & 31T i

gig o1 3iHa IR H) 8

Average of the increase in import of
X year by year for all the years is
(in X crore)

(A) 0 W IS 721 / None of these
(B) 325
(C) 280
(D) 260

97.

98.

| 99,

TerTa fema= oIt deh X ohT 31T, X o 3719d
AT | 3feres o
For how many years, there was more

import of X, than the average import of
X?

(A) 1 (B) 2
© 3 (D) 4
X o 3719 37T ¥ 3Tferes 3T1d 3T X

ST AT § A AT o 9971 bl AT
r

The difference of the numbers of years in
which import of X is less than the
average import and in which import of X
is more than the average import is

(A) 0 (B) 1
© 2 D) 3

T4 2018-19 % GRH X  3TRATA H Fhwrd
3fi @l st 3 X 3 3T ¥ 36 e
qfafi 2 7

The percentage increase in import of X

during 2018-19 over its Average of
Import of X of all years ?

(A) 64.38% (B) 70.6%
(C) 63.5% (D) 50.9%

100. 9§ 2014-15 ¥ 2015-16 % eUF X

31T ¥ gfg e | —

Percent increase in import of X from
2014-15 to 2015-16 is

(A) 25.0% (B) 28.8%

(C) 333% (D) 43.0%
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